info@puig.tv
info(@puigusa.com

www.puig.tv
WWW.pUIguUsa.com

V = 7/

Hi-Tech Parts

M O U NTI N G I N S TRUOCT I O NS

REF 20705 COLIN / REAR SEAT COWLS

1

1Person

20 min

@ ALLEN
EASY N° 2,5

DESCRIPCION

DESCRIPTION

1 Pieza lateral derecho (ABS) Right side piece (ABS) 1 20705C/JM3

2 Pieza lateral izquierdo (ABS) Left side piece (ABS) 1 20705C/JM3

3 Pieza central (ABS) Central piece (ABS) 1 20705C/JM3

4 Soporte de aluminio Support SOP2P8----20705
5 Silentblock M4 M4 silentblock SILENBTM4---062
6 Arandela de nylon M4 M4 nylon washer ARNVOOO000003T]
7 @DEDD Tornillo Allen M4x20 @9 ISO 7380 M4x20 &9 ISO 7380 Allen screw 4 TORNI-17380-890
8 @b))@ Tornillo Allen M4x10 ISO 7380 M4x10 ISO 7380 Allen screw 2 TORNI-17380-645
9 Tornillo Allen M4x10 DIN7991 M4x10 DIN7991 Allen screw 2 TORNI-D7991-891
10 @ Arandela de goma 4,5 x @14 x 4mm 4.5 x D14 x 4mm rubber washer 4 ARAND-GD13D5X4-
1l Arandela de goma @3,5x D11x 2 mm &3,5x D1x 2 mm rubber washer 4 ARAND------- 816
2 — Espuma adhesiva protectora 10x15x2mm| 10x15x2mm adhesive protector foam 2 ESPUMA-----264
13 @ Espuma Foam 1| ESPUMA-—--20705
14 \\ Kit velcro dual lock (Tamafio grande) Kit dual lock velcro (Big size) 2 VELCRO---520431

/4
15 <\ Kit adhesivos Stickers set 1 | ADHESI----20705




p"i www.puig.tv info@puig.tv

MHi-Tech Parts www.puigusa.com info@puigusa.com

4

INSTRUCCIONES DE MONTAJE - MOUNTING INSTRUCTIONS - MONTAGEANLEITUNG

DISASSEMBLY ASSEMBLY

DESMON MONTAJE

ASSEMBLY STEP 1 STEP 2

MONTAJE

STEP 2
CON UNA MANO MANTENER LA POSICION DEL PUNTOAA, Y
CON LA OTRA PRESSIONAR EN EL PUNTO B. VER VIDEO MONTAJE.

WITH ONE HAND MAINTAIN THE POSITION OF POINT A, AND
WITH THE OTHER HAND PRESS ON POINT B. SEE VIDEO ASSEMBLY.




P"i www.puig.tv info(@puig.tv

Hi-Tech Parts WWW.pUigusa.com info(@puigusa.com

INSTRUCCIONES DE MONTAJE - MOUNTING INSTRUCTIONS - MONTAGEANLEITUNG

REALIZAR LOS MISMOS PASOS PARA LA PIEZA LATERAL IZQUIERDA ID2
DO THE SAME STEPS FOR THE LEFT SIDE PIECE ID2

ASSEMBLY ASSEMBLY
MONTAJE MONTAJE

i

EXTRAER PAPEL DEL ADHESIVO DEL VELCRO
EXTRACT PAPER FROM THE VELCRO

ASSEMBLY ASSEMBLY
MONTAJE : MONTAJE

ADHESIVOS
STICKERS

APPLY PRESSURE ON ADHESIVE AREA FOR 1 MINUTE. IDEAL TAPE
APPLICATION IS ACCOMPLISHED WHEN TEMPERATURE IS BETWEEN
21°C AND 38° AND THE BOND IS ALLOWED TO DWELL 24 HOURS.




